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NSotsHE el XI& 263,736 0 263,736
[ 131,868
Al 65,934
- 65,934
307 elztol & 263,736 0 263,736
= 131,868
Al 65,934
- 65,934
10 AlRISTIAIEEE 22X 263,736 0 263,736
OXSotsHIE 214l X
263,736,000 263,736
= 131,868
Al 65,934
- 65,934
XHotsHlE! 228 X (AlHI) 157,952 284,541 126,589
Al 83,942
- 74,010
307 el2tol & 157,952 284,541 N126,589
Al 83,942
- 74,010




2A:

X XH -
o=

SHW=F
o= 58

=Rl Ol SSXAEXE (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
10 MEISXAIEHE2EHIEX 131,440 145,363 13,923
OXY0lsHE SAHL =28 X
127,790,000 127,790
Al 63,89
T 63,895
OXY0tsHH SAHL EXE K
2,250,000 2,250
Al 2,250
ONHOISHE BAR SEALATY| X
1,400,000 1,400
Al 1,400
11 ARRIS XA E X 26,512 29,378 A2,866
ONOISHE s&8 X
13,080,000 13,080
Al 6,540
- 6,540
OXIHOISHEl T2 X
7,150,000 7,150
Al 3,575
T 3,575
OXIHOISHE! 0180IS 22T HI X
el 2,400,000& 2,400
Al 2,400
OXISE0tsHIE 0lZ0ts DMK EXl O
A3 X& 1,230,000 1,230
Al 1,230
OXGotSHE SEXA 1T KA
855,000 855
Al 855
OXIG0tSHIE HE 2 KA
1,797,000 1,797
Al 1,797
XSotsHlE 2201 XI& (X)) 126,165 126,165
307 212t01™ 126,165 126,165
05 gizt2(& = 109,800 109,800
O+8 Xd0tsdH X& 109,800
—7& UXG0tsHH
4,800,000 122 57,600
— 78 Aot Ot HIE
4,350,000 123 52,200
10 MEISXAIEHE2EHIEX 16,365 0 16,365
OXgotsHE s4=<01 X3 16,365
—JRHIIXH0otsHEH
16,365,000 16,365
AGotsdE JIs22AE X 9,304 4,336 4,968
307 212t01& 3,805 4,336 AB31
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2A:
X XH -
o e

=aak

=R
EEV =S
OIS = XIAIE X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 3,805 4,336 A531
O=8 XH0tsdE JIs22Ar&dl K&
3,805,000& 3,805
402 2IZtA=01d 5,49 5,499
01 QI XHE AL E R (KM THE) 5,49 5,499
OOFHIINS0ISHE Jls22AtH8l X
el 5,499,000 5,49
Ot==XIWAF IHA X 79,284 76,784 2,500
= 39,642
Al 19,821
- 19,821
101 ©1AH| 79,284 76,784 2,500
[ 39,642
Al 19,821
- 19,821
04 JIZtN22 XS 2+ 79,284 76,784 2,500
OO0tS= XL AF 21244| 79,284,000 79,284
[ 39,642
Al 19,821
- 19,821
FHoHE OtsSEAMHIA XI&(=2HI) 364,400 363, 160 1,240
= 291,520
Al 21,864
- 51,016
101 @124H| 158,319 185,557 2,762
= 126,655
Al 9,49
- 22,165
03 SR (RINHA) 222+ 29,998 29,011 987
OOtsSE A2 2| AHSRA) 2124H]
29,998,000& 29,998
= 23,998
Al 1,800
- 4,200
M OIRIMZZ2NSE S 128,321 126,546 1,775
OOtSSEAtAIZ2IAHOIREM) el24t]
128,321,000& 128,321
= 102,657
Al 7,69
T 17,965
201 er2 3| 140,260 149,525 A9,265
= 112,208
Al 8,416
T 19,636




SN BYDSY
33: Ots=A &4
s OFSSXIAIEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 32,570 31,277 1,293
OEEAEE Yit+=2H] 22,400,000 22,400
= 17,920
Al 1,344
- 3,136
OEEAEE A W= 2,570,000 2,570
= 2,0%
Al 154
- 360
O=gt| 8,0003 x5 »7& 12 3,360
= 2,688
Al 202
- 470
Oogx=z(F=Il 8) 353,330 122 4,240
= 3,392
Al 254
- 594
02 35244l 7,790 7,748 42
OEEAERE 2ER2= 6,780,000 6,780
= 5,424
Al 407
- 949
OEEAERE gmXH| 1,010,000 1,010
= 808
Al 61
- 141
03 A= &I 99,900 110,500 10,600
OEEAEE A2 40,000,000 40,000
= 32,000
Al 2,400
- 5,600
OCEHARE 2208 M=
59,900,000 59,900
= 47,920
Al 3,594
- 8,386
202 04l 7,140 6,540 600
= 5,712
Al 428
- 1,000
01 =LHO LI 7,140 6.540 600
OESAERE Atell2el £20it]
10,0002 68 +82]~ 123 4,800




FA BEUS
g3 Ols=A 88

s OFSSXIAIEXE (¢t

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

3,840

288
T 672
2,340,000 2,340
1,872
Al 140
T 328

=}

OEEAEE WM

on

H

301 2 E = 54,000 47,095 6,905
43,200
3,240
T 7,560

=}

01 Al EE A 253 (21

OEEAEE Z2S K&

I-II

M) 45,000 38,095 6,905

|"|

45,000,000 45,000
= 36,000
Al 2,700
T 6,300
11 HAIMHIXI R 3 9,000 9,000 0
OEEAEIE HAMAHIXAZS
9,000,000& 9,000

7,200
540
T 1,260

=}

M H=RE=S 4,681 4,443 238
3,745
281

=}

4,681 1,066 3,615

4,681,000 4,681
3,745
Al 281

H

CYAEIE MS2F (A 55,981 55,445 536

101 @124H| 19,122 19,186 A64

04 JIZtN2Z2 S8+ 19,122 19,186 N64
OO0tSSEAAIZ2IAHOIZEAI) e124] 19,122
-3 140,000 x4~ 122 6,720

12 OHﬂ
o

=

o

4 I

I
Bop >

J

—
—

,000 2 x22H * 128 )+(20, 0003 1L+ 128 )
3,120

1,122,640%4H +23 8,982
300,000 300

|
1]

n o9
=8

|
e o
_>'|_|

)
024
0.

N
o
=2
e

11,300 10,700 600
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FA BEUS
g3 Ols=A 88

s OFSSXIAIEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,000 3,000 0
OEEAEE Yit+=2H] 1,500,000& 1,500
OLEAEE Xz 1,500,000 1,500
02 S3=gHl 8,300 7,700 600
OLEEARE &R 500,000& 500
OEEHAEE AMIEKXIHI 7,800,000 7,800
202 04l 501 501
01 2LHoIH 501 501
OOtS= X WAL Atell2tel E2&044|
10,0002 x 12 %4 175|x 12 501
301 EtE2 NS 15,058 15,058
02 AR 2HALFS(HAAS, XNLHE) 15,058 15,058
OCAEE T2 X |
15,058,000 15,058
307 212+01& 10,000 10,000
01 22X 2| 10,000 10,000
OSEAEE 9 2Hl S K&
10,000,000& 10,000
NSotSHE &ats sA=<01 XE 2,540 2,419 121
Al 2,540
307 lztol & 2,540 2,419 121
Al 2,540
10 AlISXAZEHE 22X 2,540 2,419 121
OXIOISHE 2atE FATL0| X
2,540,000 2,540
Al 2,540
MNASEE Ots=A X 2,445,577 2,042,355 403,222
= 420,776
Al 1,106,768
- 918,033
220t sS4 1,680,000 1,457,540 222,460
Al 840,000
- 840,000
301 EetE2 N = 1,680,000 1,457,540 222,460
Al 840,000
- 840,000
02 ARSI S2E AT S(FIANS, XLETHE) 1,680,000 1,457,540 222,460
240l s 1,680,000,000& 1,680,000
Al 840,000
- 840,000
Ors2E XA %t 225,025 238,734 A13,709
= 157,518
Al 33,7%4




DA BUDSD
33 Ots=A &
el NASE ots=A A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 33,753
301 EtE NS 225,025 238,734 13,709
= 157,518
Al 33,754
- 33,753
01 Al EE AT Z(2DEXR) 225,025 238,734 A13,709
ORES0ts LENE A%
225,025,000 225,025
= 157,518
Al 33,754
- 33,753
ors2d 3o2dg 2,800 2,800
201 er23| 2,800 2,800
01 AtR2t2|HI 2,800 2,800
OOlS=Al 23 2|2 HA4=g
70,0002 x40 2,800
LAOISIHEXE (L= X&) 2,700 2,700 0
= 1,890
Al 810
307 glztol & 2,700 2,700 0
= 1,890
Al 810
11 AMEISXAEEXS 2,700 2,700 0
oggdls N 2,700,000 12 2,700
= 1,890
Al 810
LAOISIHEX A (L 20ts L= RIY) 103,200 84,600 18,600
= 72,240
Al 30,960
301 2eEN= 103,200 84,600 18,600
= 72,240
Al 30,960
01 A2 HSHS(RNEERTHE) 103,200 84,600 18,600
AAOIE YRS X
200,000 *432 %122 103,200
= 72,240
Al 30,960
LAOISHEX A (HHOtSLSEES KIR) 6,612 6,611 1
= 4,628
Al 1,984
301 22N = 6,612 6,611 1
= 4,628
Al 1,984
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SN E
X XH -
[ I

=aak

MEE
Ofl &k2h

6,612

6,612
4,628

6,611

700
490
210

700

H

Al

700
490
210

700

700,000&+1H

700

700
490
210

700

2,000
1,400
600

2,000

H

Al

2,000
1,400
600

2,000

2,000
2,000
1,400

600

2,000

12,000
8,400
3,600

12,000

12,000
8,400
3,600

12,000

1,000,000& « 122

12,000

12,000
8,400
3,600

12,000

4,400
3,080
1,320

2,200

2,200

4,400
3,080
1,320

2,200

2,200




FA BYW=

ma: ols=x =7
el NASE ots=A A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 4,400 2,200 2,200
OYY IHPSSOIS M2IXR X
4,400,000& 4,400
= 3,080
Al 1,320
IS OtS (A8 AEHIHE) 2= XIS 89,200 122,800 A\33,600
Al 62,440
- 26,760
301 22N = 89,200 122,800 A33,600
Al 62,440
- 26,760
02 AR 2EH LGS (FHAAS, NLWE) 89,200 122,800 33,600
OJNEAEOtS(AHAEHIE) 2=sH| XJ
Ared 89,200
—IJIESE0ls &=l 82,800,000 82,800
Al 57,960
- 24,840
—Ol=E378H4l 1,000,0002 %12 1,000
Al 700
- 300
—2AREESH] 5,400,000& 5,400
Al 3,780
- 1,620
IHEEASOIS(AEAHIIE) 22 XY 9,440 0 9,440
Al 4,720
- 4,720
301 22N = 9,440 0 9,440
Al 4,720
- 4,720
02 A2 EH LGS (FHAAS, NEWE) 9,440 0 9,440
OJtEIEots(AEAEHIIE) 2R AL
of 9,440
—CHB A MBI T /D
2,000,000 x1E*12] 2,000
Al 1,000
- 1,000
— sl 6,000,000 6.000
Al 3,000
T 3,000
—==&gll & S0y
90,0002 x8E »23] 1,440
Al 720
- 720
IS OtS (A8 AEHILE) OiXsEsHl X2 8,400 0 8,400
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FA g8us
33 Ots=A &
el NASE ots=A A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,400
301 EtE NS 8,400 0 8,400
Al 8,400
02 ARSI 2EH 2GS (FHAAHS, NLWE) 8,400 0 8,400
OIFELAOIS (AEAEINE) HHSESH]
A2 8,400,000& 8,400
Al 8,400
JHE 2B 0ts M20tsEsl K& 40,500 9,000 31,500
= 28,350
Al 12,180
301 EtE N = 40,500 9,000 31,500
= 28,350
Al 12,150
01 Al EE A S (2 RDEEMA) 40,500 9,000 31,500
OfJI0ts It8ES ME20tSESH| X2
4,500,000 4,500
= 3,180
Al 1,350
OdEIHgAE dE0tS2EsH N
1,000,000 x32* 122 36,000
= 25,200
Al 10,800
OtsEs 72l A& 1,000 1,000 0
= 700
Al 300
301 EtE NS 1,000 1,000 0
= 700
Al 300
01 AR 2EHSHS(RNEXRTHE) 1,000 1,000 0
Ootsg= +adl XA
1,000,000& *1H+12] 1,000
= 700
Al 300
SSES0s(AIE, JHE9E) MHEag X2 177,600 100,800 76,800
= 142,080
Al 35,520
301 EtE NS 177,600 100,800 76,800
= 142,080
Al 35,520
01 AR 2EHSHS(RNEXRTHE) 177,600 100,800 76,800
OESE20ts(AIE, JIE2E) IEgsg X
= 400,000 37 &+ 12 177,600
= 142,080
Al 35,520
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SN E
X XH -
[ I

=aak

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ANEEHEE ANEEEZ NH 80,000 0 80,000
Al 70,000
- 10,000
301 LPBNEZ 80,000 0 80,000
Al 70,000
- 10,000
2 AN BEA>HS(HUYHS, NYTHA) 80,000 0 80,000
OOtsMEAIE NHEEHIEE UEEES
10,000,000 «6Z 60,000
Al 60,000
O3« NHSEEHEE RANEE=2
10,000,000 «2& 20,000
Al 10,000
- 10,000
oS4 X3AAS 9,752,623 9,840,800 N8B, 177
= 7,802,098
Al 1,365,367
- 585,158
Ots4 2WXl= 9,752,623 9,838,800 N8B, 177
= 7,802,098
Al 1,365,367
- 585,158
301 LPBNF 9,752,623 9,833,800 N8B, 177
= 7,802,098
Al 1,365,367
- 585,158
01 A BE A2 (RREETHA) 9,752,623 9,838,800 N8B, 177
O0tsY =20X2 9,752,623,000& 9,752,623
= 7,802,098
Al 1,365,367
- 585,158
235 2 Siiots dd |4 103,615 101,639 1,976
= 60, 160
Al 7,520
- 35,935
Ot=E2SdEed X 75,200 78,800 A3,600
= 60, 160
Al 7,520
- 7,520
101 @124t 65,200 63,800 1,400
= 52,160
Al 6,520
- 6,520
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FA g8us
B Ols=x B
el RES 2 Siols HE |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 60
- 60
301 EtE N = 3,000 7,000 24,000
= 2,400
Al 300
- 300
01 A EHATZ(2REZME) 3,000 7,000 24,000
OE=XxXZE & 0= 2gHIs K&
1,000,000 1,000
= 800
Al 100
- 100
OEsldots € #1JH8 & N&
2,000,000& 2,000
= 1,600
Al 200
- 200
OlsSESHERA X (XHA) 17,019 16,623 3%
101 @12A4H| 13,764 13,578 186
02 JIEtME = 13,764 13,578 186
OAREEHHLIIMOIS (OISESHERHA) 13,764
—ItEsE 60,0003 2 128 1,440
—A2t 2R+
9, 1603 x20A| 2H+2 &+ 123 4,397
—gAZAHI 140,000 x2&* 12 3,360
—S+AF2E
2,152,5802 x40/ 35+B4%52H + 12 2,480
—Helgss 50,0004 x35/40+2B 12 1,050
— o2 4
2,162,580 x84%+86%x1/30%1/7+70 Al 2H2H 1,037
204 APt AH| 3,255 3,045 210
02 Mg 22| 3,255 3,045 210
OAIZIHERHIAIIMIOIS (Ot SESHLY QYY)
155,000 2 x35/40+2H 123 3,255
OlSSIU AL S33H AFESFA 11,3% 6.216 5,180
201 et 3| 9,5% 5,016 4,580
01 At22t2l] 3,576 2,576 1,000
OOtSstt BAH NEE2 SEB
6,400 * 143 x 122 1,076
Ootssiioe 2= &l
2,500,000& 2,500
02 S3=gHl 4,920 1,340 3,580
ORER3 500,000 500
O0lsdEstFXIHI(SAHI)
85,000& 122 1,020
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SN BYDSY
33 Ots=A &
el 225 E Siols A8 54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtgrset] 200,000 * 122 2,400
Ootsstltl ZAF =35 B2+
1,000,000& %12 1,000
03 &A= 1,100 1,100 0
Ootsst 2012 212] Izl 1,100
— 2P AHH HI& 200,000 «3H 600
—E2= M 200,000 200
— AR S| 300,000 300
204 MR AH| 1,800 1,200 600
03 SEZ =23 1,800 1,200 600
OO0ttt dgs+d S8 223l
50,0002 38 * 122 1,800
CIEtHl SsS At X1 192,264 0 192,264
s 100,656
Al 47,855
- 43,753
CHiENEsdE £Xd) X2 70,000 0 70,000
= 45,000
Al 12,500
- 12,500
401 Al HIZ S OHbI 50,000 0 50,000
[ 25,000
Al 12,500
- 12,500
01 Al&H| 50,000 0 50,000
OUgNssSHE el22aH(ed)
50,000,000 *1IH £ 50,000
[ 25,000
Al 12,500
- 12,500
402 2IZtA=01d 20,000 0 20,000
[ 20,000
02 QI X2 AL EE(OIHTHE) 20,000 0 20,000
OteMESsS4E JIXHBI(EL)
20,000,000 * 100 2 20,000
= 20,000
CletNssdl 21148 X 95,312 0 95,312
= 47,656
Al 23,828
- 23,828
307 212+01& 95,312 0 95,312
= 47,656
Al 23,828
- 23,828
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SN BYDSY
33 Ots=A &
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 Al SXIAIEE 95,312 95,312
OttghHss4dH lAd] X3 95,312
—dEHE 49,424,000 49,424
[ 24,712
Al 12,3%
T 12,35
—dEH =S WA 45,883,000 45,888
= 22,944
Al 11,472
T 11,472
ClessdH 221 X 16,000 16,000
= 8,000
Al 4,000
T 4,000
307 glztol & 16,000 16,000
= 8,000
Al 4,000
- 4,000
11 AMEISXAEEES 16,000 16,000
Ooten=34de 234l XA
16,000,000 16,000
= 8,000
Al 4,000
- 4,000
CIEtHSSHE SAL SX8s X3 550 550
Al 550
307 @120l & 550 550
Al 550
1 AMEISXAEEXS 550 550
Ol HESdH SAHL S8+ N& 550
—10=3 0I2F 250,0002 1 250
Al 250
—10=S 0l 300,000& %1 300
Al 300
CtENESSHE SAtAL Sgd238H X2 200 200
Al 200
307 @I2t01 & 200 200
Al 200
11 MEISXAEE 200 200
OUENSSHH SAHA S22 Z &l X
! 200,000 1 200
Al 200
CHE M HE SAHA & 1H] XI& 6.850 6.850




FA g8us
B Ols=x =X
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,425
T 3.425
307 lztol & 6.850 0 6.850
Al 3,425
- 3.425
11 MEISXAEE 6,850 0 6,850
OUtgH=s4dH SAHL 882d+8 X3
6,850,000& 6,850
Al 3.425
- 3,425
Ciel=sde sts u+ K& 952 0 952
Al 952
307 @20l & 952 0 952
Al 952
11 Al SXIAIEE 952 0 952
OtgN=84H ssu+ A&
952,000 952
Al 952
CtENSSHE SAHA Sl & 2eli=g X2 2,400 0 2,400
Al 2,400
307 @I2to| & 2,400 0 2,400
Al 2,400
11 MEISXAEE 2,400 0 2,400
OUESNSSHE SALL SHl 2 22|kt
=g & 2,400,000& 2,400
Al 2,400




